19430 Boxenwandhalterung iam KONIG & MEVER

N&#  Stands For Music

Nutzungsinformation

BestimmungsgemaBe Verwendung

Die Boxenwandhalterung ist fur die Aufnahme von Lautsprechern konzipiert. Es kénnen Laut-
sprecher mit einem Lochbild von 60 - 70 mm M6 Gewinde oder 115 - 150 mm M8 Gewinde mit
einem maximalen Gewicht von 25 kg aufgenommen werden. Die Neigung kann von horizontal
auf -45° bis 45° stufenlos verstellt werden. Die Richtung kann um 360° stufenlos verstellt werden.

Vorhersehbare Fehlanwendung

Wahrend der Verwendung dirfen die Klemm- und Verstellschrauben nicht geéffnet werden.

Allgemeines

» Die Boxenwandhalterung muss fest mit der Wand verbunden werden kénnen.

e Die Wand muss ausreichend tragféhig sein und die zuséatzlichen auftretenden Kréfte auf-
nehmen konnen.

e Nach der Wandbeschaffenheit muss das richtige Befestigungsmittel gewéhlt werden.
z.B. Bolzenanker M 8, Rahmendtibel g 10 mm.

e Auf eventuell verlaufende Rohr- oder Elektroleitungen achten.

» Die Montageanleitung der verwendeten Befestigungsmittel beachten.

» Der Installateur muss kdrperlich und fachlich geeignet und mit den aktuell geltenden 6rtlichen/
staatlichen Vorschriften vertraut sein.

» Der Lautsprecher muss Uber ein entsprechendes Befestigungslochbild montiert werden.
Herstellerangaben beachten.

» Vor der Montage muss die Boxenwandhalterung auf Vollstandigkeit und Betriebssicherheit
gepruft werden. Die Boxenwandhalterung muss frei von Verformungen, Kerben, Rissen, Ver-
schlei3, Schaden an Gewinden und Korrosion sein. Das Typenschild oder andere Kennzeich-
nungen mussen lesbar sein.

» Die Boxenwandhalterung vor Witterungseinfliisse, Schmutz und Feuchtigkeit schiitzen.

» Die Boxenwandhalterung ist nicht fir den Betrieb im AuBenbereich ausgelegt.

» Durch die Verstellméglichkeit besteht Quetschgefahr zwischen den Bauteilen.

» Durch die Installationsh6he besteht Gefahr durch herabfallende Teile.

» Der Nutzer muss kérperlich und fachlich geeignet sein.

P Die Nutzungsinformation ist Bestandteil des Artikels und ist fir dessen Lebensdauer
aufzubewahren bzw. an jeden nachfolgenden Besitzer oder Benutzer weiterzugeben.

SicherungsmaBnahmen
Boxensysteme sind gegen Herabfallen zu sichern. Es wird unterschieden in:

» Ortsverdnderliche Montage: z.B. geflogene Lautsprecher, Montage an Traversen oder von
Hand l6sbare Befestigungselemente erfordern am Boxensystem ein zweites, unabhangig
wirkendes Sicherungselement.

P Ortsfeste Montage: Bei dieser Montageart kann auf ein zweites Sicherungssystem verzichtet
werden, wenn die Befestigung ausreichend bemessen, nur mit Werkzeug zu I6sen sowie
gegen Selbstlockern gesichert ist.



~\ .
K&M KONIG & MEYER

N&#  Stands For Music

Gewabhrleistung
Keine Gewéahrleistung wird tbernommen fiir Schaden, die entstanden sind durch:

» Nichtbeachtung der Nutzungsinformation und der Allgemeinen Sicherheits- und
Montagehinweise.

P Ungeeignete oder nicht bestimmungsgeméaBe Anwendung.

» Fehlerhafte Installation bzw. Inbetriebnahme durch den Kaufer oder Dritte.

» Natlrliche Abnutzung.

» Nachlassiger Umgang.

» UnsachgeméBe Anderungen bzw. Instandsetzungsarbeiten durch Kaufer oder Dritte.

» Einwirkung von Teilen fremder Herkuntt.

» Verwendung von nicht originalen Ersatzteilen.

Veranderungen, An- und Umbauten, welche die Sicherheit beeintrachtigen kénnen, sind ohne
Genehmigung des Herstellers untersagt.

Technische Daten

Halterohr, Befestigungslaschen, Aufnahme, Adapterplatte:

Stahl, pulverbeschichtet schwarz

Verbindungsbolzen, Schrauben, Muttern, U-Scheiben, Niet: Stahl, verzinkt
Lagerschale, Ausgleichskappe, Gleiter: Kunststoff, schwarz

Material

Tragfahigkeit Maximal 25 kg
Wandanschluss: (B) 160 x (T) 126 x (H) 17 mm

Bohrung: 4x @ 8,4mm
MaBe und MaBe: (B) 316 x (T) 180 x (H) 217 mm
Verstellbereich | Richtung: 360°

Neigung: -45°- 45°

Adapterplatte: (B) 180 x (T) 90 x (H) 3 mm
Verpackung (B) 330 x (T) 275 x (H) 70 mm
Gewicht 2,3 kg




/2\

Montage

!Durch die Beweglichkeit der Bauteile besteht Quetschgefahr zwischen diesen!
!Durch die Lage der Boxenwandhalterung besteht eine Gefahr durch herabfallende Teile!

1.) Auspacken und Artikel auf Beschadigung und Vollstandigkeit prifen

Halterohr, Befestigungslaschen, Adapterplatte mit 2x Mutter M6, Aufnahme

Zubehdrbeutel: Gleiter, 2x Sechskantschraube M8 x 20 mm, 2x U-Scheibe o 17 x @ 8,4 mm,
Innensechskantschraube M10 x 25 mm, U-Scheibe o 21 x g 10,5 mm, 4x Ausgleichskappen,
4x U-Scheibe @ 24 x 9 8,4 mm

Bendtigtes Werkzeug: Innensechskantschlissel 5 und 8 mm, Schlidssel SW 10 und SW 13

2\

K&M KONIG & MEYER

N&#  Stands For Music

Die Befestigungslaschen durch das Halte-
rohr stecken 1 und die Ausgleichskappen
auf den Befestigungslaschen abstecken 2.
Zum Befestigen der Boxenwandhalterung
die vier Bohrungen der Befestigungs-
laschen verwendet. Ein geeignetes Be-
festigungsmittel muss nach der jeweiligen
Wandbeschaffenheit ausgewéhlt werden.
Boxenwandhalterung an der gewlnschten
Position ausrichten und die vier Befesti-
gungsldcher kennzeichnen. Befestigungs-
I6cher entsprechend dem gewéhlten
Befestigungsmittel herstellen. Montagean-
leitung des Herstellers beachten. Boxen-
wandhalterung mit der Wand fest
verschrauben




Va .
K&M KONIG & MEYER

N&#  Stands For Music

Lautsprecher an Halter montieren

Lautsprecher Lochbild 115 - 150 mm:
Adapterplatte mit dem Lautsprecher ver-
schrauben. Hierzu die beiden Sechskant-
schrauben M8 x 20 mm mit U-Scheibe
verwenden 1. Aufnahme mit Adapterplatte
und Lautsprecher verschrauben 2.

Lautsprecher Lochbild 60 - 70 mm:
Lautsprecher direkt mit Aufnahme ver-
schrauben.

HINWEIS: Darauf achten, dass alle
Schraubverbindungen fest verschraubt
sind. Bedienungsanleitung des verwende-
ten Lautsprechers beachten.

Boxenwandhalterung montieren

@

v Boxenwandhalterung ist ordnungsgemas montiert.

v" Lautsprecher ist ordnungsgemaB an Halter montiert.

Der Lautsprecher wird mit der montierten Aufnahme in die Boxenwandhalterung geschoben 1
und mit der Innensechskantschraube M10 x 25 mm und U-Scheiben fest verschraubt 2. Abschlie-
Bend den Gleiter an der Boxenwandhalterung anbringen 3.

HINWEIS: Je nach GréBe und Gewicht des Lautsprechers, kann durch eine zweite Person die
Montage erleichtert werden.



2\ .
K&M KONIG & MEYER

N  Stands For Music

Verstellen

v Aufnahme ist fest mit der Boxenwandhalterung verschraubt.

Zum Verstellen der Neigung die vier Linsenkopfschrauben der Aufnahme l6sen, gewlinschte
Position einstellen 1 und Linsenkopfschrauben wieder festziehen. Zum Einstellen der Richtung,
die Innensechskantschraube M10 x 25 mm I6sen, gewunschte Richtung einstellen und
Schraube wieder fest anziehen 2.

Wartung, Reinigung und Instandsetzung

» Wartung: RegelmaBige Kontrolle auf festen Sitz der Schraubverbindungen.

» Reinigung: Zum Reinigen der Boxenwandhalterung ein leicht befeuchtetes Tuch benutzen.
Keine chlorhaltigen oder scheuernde Reinigungsmittel verwenden. Diese kdnnen Schaden
an der Oberflache verursachen.

» Instandsetzen: Auftretende Schaden sofort beheben und Boxenwandhalterung nicht weiter
benutzen. Instandhaltungsarbeiten dirfen nur durchgefiuhrt werden, wenn Sie die erforderli-
chen Kenntnisse hierflr besitzen. Bei fehlenden Teilen kontaktieren Sie den Hersteller Gber
www.k-m.de. Hier gelangen Sie anhand der Artikelnummer, die Sie auf dem Typenschild fin-
den, zu einem entsprechenden Ersatzteilblatt. Uber dieses kénnen Sie die fehlenden oder
defekten Teile nachbestellen.

Stérung und Fehlersuche

Stérung/Ursache Priifen/Behebung

Bauteile der Halterung wackeln | e Schraubverbindungen tberprifen und eventuell
oder weisen Spiel auf nachziehen.

Eingestellt Position wird e Schraubverbindungen der Aufnahme nachziehen.
nicht gehalten e Maximale Tragféhigkeit beachten.




~\ .
K&M KONIG & MEYER

N7  Stands For Music
Lagerung, Entsorgung
Lagern Sie die Boxenwandhalterung an einem trockenen und staubfreien Ort.

Fahren Sie zerlegte Bestandteile der Wiederverwertung zu:
» Verschrotten Sie alle Komponenten aus Metall.

» Fihren Sie alle Komponenten aus Kunststoff, Papier und Kartonage der Wiederverwertung
bzw. Recycling zu.

P Sortieren Sie alle anderen Komponenten nach Materialbeschaffenheit und entsorgen Sie
diese gemaB den ortlichen Bestimmungen.

Kontaktinformation

KONIG & MEYER GmbH & Co. KG

Kiesweg 2 Telefon: 09342/8060 E-Mail: contact@k-m.de
97877 Wertheim Telefax: 09342/806-150 Web: www.k-m.de

Weitergabe sowie Vervielfaltigung dieses Dokuments, Verwertung und Mitteilung seines Inhalts
sind verboten, soweit nicht ausdricklich gestattet. Zuwiderhandlungen verpflichten zu Schaden-
ersatz.

19430-000-55 Rev.03 03-80-603-00 12/24



19430 Speaker wall mount K,/G:\}II KONIG & MEYER

N&#  Stands For Music

Information for use
Intended use

The speaker wall mount is designed to hold speakers. Speakers with a hole pattern of 60 - 70 mm
M6 thread or 115 - 150 mm M8 thread with a maximum weight of 25 kg can be accommodated. The
inclination can be infinitely adjusted from horizontal to -45° to 45°. The direction can be infinitely ad-
justed by 360°.

Foreseeable misapplication

Do not open the clamping and adjusting screws during use.

General

P The speaker wall mount must be securely fastened to the wall.
e The wall must have sufficient load-bearing capacity to absorb any additional forces.
e The correct fastener (e.g., M 8 bolt anchor, diameter 10 mm frame dowel) must be selected
according to the wall condition.
e Pay attention to any pipes or electrical cables that may be routed.

P Observe the assembly instructions for the fasteners used.

P The installer must be physically and technically fit and familiar with the currently applicable
local/state regulations.

» The speaker must be mounted using an appropriate mounting hole pattern. Observe the
manufacturer’s instructions.

P Before assembly, the speaker wall mount must be checked for completeness and operational
safety. The speaker wall mount must be free of deformations, notches, cracks, wear, damage
to threads, and corrosion. The type plate or other markings must be legible.

P Protect the speaker wall mount from the elements, dirt, and moisture.

» The speaker wall mount is not designed for outdoor use.

P Because of the adjustment option, there is a risk of crushing between the components.

P Because of the installation height, there is a risk of falling parts.

» The user must be physically fit and appropriately skilled.

P The usage information is an integral part of the product and should be kept for its service life
or passed on to any subsequent owner or user.

Safety measures

Speaker systems must be secured against falling. A distinction is made between:

P Portable assembly: When using flown speakers, trusses, or manually detachable fastening
elements, you must use a second, independent securing element on the speaker system.

» Fixed assembly: For fixed installations, a second securing system is not needed if the faste-
ning is sufficiently dimensioned, requires tools to loosen, and is designed to prevent self-
loosening.



~\ .
K&M KONIG & MEYER

N&#  Stands For Music

Warranty
No warranty is given for damage caused by:

» Non-observance of the usage information and the "General safety and assembly instructions".
» Unsuitable or improper use.

» Incorrect installation or commissioning by the buyer or third parties.

» Natural wear and tear.

» Careless handling.

» Improper modifications or repair work by the buyer and third parties.

» Impact on components of foreign origin.

» Use of non-original spare parts.

Modifications, additions and conversions that may impair safety are prohibited without the manu-
facturer's approval.

Technical data

Support tube, fastening clips, holding fixture, adapter plate:
Material Steel, powder-coated black.

Connecting bolts, screws, nuts, washers, rivets: Galvanized steel

Bearing shell, compensation cap, slider: Plastic, black
Load capacity Maximum 25 kg

Wall connection: (W) 160 x (D) 126 x (H) 17 mm

Drill hole: 4 x diameter 8.4 mm
Dimensions and Dimensions: (W) 316 x (D) 180 x (H) 217 mm
adjustment range Direction: 360°

Inclination: -45°- 45°

Adapter plate: (W) 180 x (D) 90 x (H) 3 mm
Packaging (W) 330 x (D) 275 x (H) 70 mm
Weight 2.3 kg




Assembly

2\

K&M KONIG & MEYER

N&#  Stands For Music

!Because of the mobility of the components, there is a risk of crushing between them!
!Because the position of the speaker wall mount, there is a risk of falling parts!

1.) Unpack and check items for damage and completeness

Support tube, fastening clips, adapter plate with two M6 nuts, holding fixture

Accessory bag: Glider, 2 hexagon head screws M8 x 20 mm, 2 washers diameter 17 x diameter
8.4 mm, hexagon socket screw M10 x 25 mm, washer diameter 21 x diameter 10.5 mm,

4 compensation caps, 4 washers diameter 24 x diameter 8.4 mm

Tools required: Hex wrench 5 and 8 mm, wrench SW 10 and SW 13

Insert the fastening clips through the sup-
port tube 1 and place the compensating
caps on the fastening clips 2. Use the four
holes in the fastening clips to attach the
speaker wall mount. A suitable fastener
must be selected according to the respec-
tive wall condition.

Align the speaker wall mount in the desired
position and mark the four mounting holes.
Drill the mounting holes according to the
selected fastener. Follow the manufactu-
rer’s assembly instructions. Screw the
speaker wall mount firmly to the wall



Mount the speaker to the bracket

Mount the speaker wall mount

Va .
K&M KONIG & MEYER

N&#  Stands For Music

Speaker hole pattern 115 - 150 mm:
Screw the adapter plate to the speaker.
Use the two M8 x 20 mm hexagon head
screws with washers for this 1. Screw the
holding fixture to the adapter plate and
speaker 2.

Speaker hole pattern 60 - 70 mm:
Screw the speaker directly to the holding
fixture.

NOTE: Make sure that all screw connecti-
ons are securely tightened. Observe the
oper-ating instructions for the speaker
used.

10

v Speaker wall mount is properly mounted.

v’ Speaker is properly mounted on the bracket.

The speaker is pushed into the speaker wall mount with the mounted holding fixture 1 and scre-
wed tight with the M10 x 25 mm hexagon socket screw and washers 2. Finally, attach the glider

to the speaker wall mount 3.

NOTE: Depending on the size and weight of the speaker, a second person can make assembly

easier.




2\ .
K&M KONIG & MEYER

N  Stands For Music

Adjustment

v" Holding fixture is firmly screwed to the speaker wall mount.

To adjust the inclination, loosen the four raised countersunk screws of the holding fixture, set
the desired position 1 and re-tighten the raised countersunk screws. To adjust the direction,
loosen the hexagon socket screw M10 x 25 mm, set the desired direction, and re-tighten the
screw 2.

Maintenance, cleaning and repair

» Maintenance: Regularly check if the screw connections are tight.

» Cleaning: Use a slightly damp cloth to clean the speaker wall mount. Do not use chlorina-
ted or abrasive cleaning agents. These will cause damage to the surface and varnish.

» Repair: Immediately repair any damage that occurs and stop using the speaker wall mount.
Repair work may only be carried out if you have the necessary knowledge for this. For mis-
sing parts,contact the manufacturer at www.k-m.de. Here you can find a corresponding spare
parts list by entering the article number on the type label. Use this page to reorder missing or
damaged components.

Fault and troubleshooting

Fault/cause Check/Remedy

Components of the mount

wobble or have play e Check screw connections and re-tighten if necessary.

e Tighten the screw connections of the holding fixture.

Set position is not held e Observe the maximum load-bearing capacity.




~\ .
K&M KONIG & MEYER

N&#  Stands For Music

Storage, disposal

Store the speaker wall mount in a dry and dust-free place.
Recycle disassembled components:

P Scrape all components made of metal.

» Recycle or reuse all plastic, paper, and cardboard components.

P Sort all other components according to material composition and dispose of them
according to local regulations.

Contact information
KONIG & MEYER GmbH & Co. KG

Kiesweg 2 Phone: 09342/8060 E-Mail: contact@k-m.de
97877 Wertheim Fax: 09342/806-150 Web: www.k-m.de
Germany

Distribution and reproduction of this document, utilization and communication of its contents are
prohibited unless expressly permitted. Contraventions will result in compensation.

19430-000-55 Rev.03 03-80-603-00 12/24




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


